Name:

LLong Multiplication: Missing number

95 12 96 95
X X X
5795 876 7392 7980
55 58 91 48
X X X
4455 870 4459 3168
35 39 17 72
X X X
2625 2691 1632 2592
Working mathematicCally X
1) The portable stands for the car races can seat 96
spectators. 3648 tickets have been sold. How many
i i ? —
stands do the show organisers need to install: 364 8
2) Ping pong balls come in boxes of 2 dozen balls. We %E X
need 864 balls for our tournament. How many boxes do -
we need?
8 6 4

3) 68 multiplied by O -¢732 What is the value of

O+O+0O)-

-+

the triangle?
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